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s R
R B TR11E | 2A1H | SATH | 4A19H | 6H24H | 6A21H | TAIOE | 8H2H | 9H28H | 10H24H | 11A22H | 12A6H
EEEE B 12:10 9:28 9:10 11:45 11:40 11:40 11:35 12:00 11:40 12:10 12:20 11:40
IE_?RH:! [€.1:3) £ o|l&xX Oo|® DK £ ol K o |[F o]|®k Oo|EK LH[KR O[F O[EK D
B3] L] L] L] L] L] 2] L] L] 1] 1] 1] 1]
KEL m|__7.14 712 7.16 7.35 7.46 - 7.4 7.3 7.46 732 7.39 7.28
£33 m3/sec - - - - - - - - - - - -
n |[EXE m|__0.54 0.50 0.54 0.55 0.62 0.46 0.55 0.55 0.62 0.39 0.56 0.45
o [EAKE m[__0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
w [R&E | 9.2 1.8 786 18.0 20.5 22.5 31.0 7.5 20.5 19.0 13.0 9.2
A [KE | 2.5 1.4 45 12.5 15.0 76.0 24.0 24.0 15.0 13.0 9.4 6.8
= A (1) Oko&R) wEED | KEEY | KEEYN | KB | KEED | KEED | KEEY | KEEY | KB | K30 | KEEY | KEEH
B SR (2) (FER) [[E3 [[E3 [[E3 [[E3 [[E3 [:E3 [[E3 [[E3 [[E3 [[E3 &3 &3
B (3) OKWRiR) - - - - - - - - - - - -
SR (4) (E0i) - - - - - - - - - - - -
CENE ) £ =% =2 =% % = £ 2% =2lx =2|lx =|® =Z|Ix =
BRE o[ >100 100 100 100 100 >100 100 100 100 100 100 100
BT m = = = = = - = = = = = =
TE|pH T4 7.3 7.3 7.3 7.3 7.5 75 7.8 75 75 75 7.6
%%[BoD me/L] 1.1 1.0 0.7 0.6 0.5 0.6 0.6 0.5 0.5 0.7 11 0.8
fedod G me/L| 1.7 3.0 1.2 1.6 1.8 7.6 1.4 1.4 0.9 7.2 1.7 11
anss me/L] <1 3 3 3 7 3 3 7 3 3 3 3
Mm[DO mg/L| 13.0 13.6 12.8 9.5 9.9 9.2 8.6 8.8 8.9 10.0 15.0 13.0
2 [AREER (1) WPN/100m 5 75 6 3 3 3 2 ] 7 77 9 70
B 1< [BER me/L| _0.27 0.20 0.24 014 0.13 0.17 0.18 0.22 0.20 0.28 0.20 0.15
B[Ey > me/L| 0.016 0.012 0.014 0.013 0.018 0.019 0.039 0.023 0.019 0.034 0.010 0.033
HESDL mg/L| <0.0003 = = = - - <0.0003 - - - - -
(P2 me/L| <01 = = = = = 01 = = = = =
3 me/L|_ <0.005 = = = = - <0.005 - - - - -
65 L me/L|_<0.01 = = = = = <001 = = = = =
EX me/L|_ <0.005 = = = = - <0.005 - - - - -
23] me/L|_<0.0005 = = = = = <0.0005 = = = = =
A [FAELKE mg/L|_<0.0005 = = = = - <0.0005 - - - - -
» [PcB mg/L| <0.0005 = = = = = <0.0005 = = = = =
® [Sronrsy mg/L| <0.002 = = = - - <0.002 - - - - -
B EEEER mg/L| <0.0002 B B B B B 30,0002 B B B B B
g 1.2-5/ 00150 we/L| <0.0004 = B B B B <0.0004 B B B B B
g [—SrnnzFLy me/L|_<0.002 = = = = = <0002 = = = = =
= [PRA2SimaxzFLy mg/L|_<0.004 - - - - - <0.004 - - - - -
M [Li-rusnnzs> me/L|_<0.0005 = = = = = <0.0005 = = = = =
¥ [l.2Fysonisy mg/L|_<0.0006 - - - - - <0.0006 - - - - -
3 [rormozzoy me/L| <0001 B B B B B 0,001 B B B E E
: FF5o00IF 0> mg/L| <0.0005 = = = - - <0.0005 - - - - -
£ [(32%mE7nRs (b-D) me/L| <0.0002 = = = = = <0.0002 = = = = =
& [F95& mg/L| <0.0006 = = = - - <0.0006 - - - - -
-4 $ITY (CAT) mg/L| <0.0003 - - - - - <0.0003 - - - - -
B [FARUINT(RoFAH—T) mg/L|_ <0.002 = = = = - <0.002 - - - - -
"o me/L|_<0.001 = = = = = <0.001 = = = = =
BT me/L| <0.002 = = = - - <0.002 - - - - -
WERESRRUVEMBRBER mg/L| 0.18 - - - - - 0.17 — = = - -
ok me/L|  <0.08 = = = = - <0.08 - - - - -
E5R me/L|_<0.02 = = = = = 0.02 = = = = =
1, a-SAXYY me/L| <0.005 = = = - - <0.005 - - - - -
g*ﬁiﬂ’ﬁ ETY wi| - - - - - - - - - - - -
FUE= D LBER me/L| _0.01 - 0.02 - 0.01 = 0.01 - <0.01 - <0.01 -
mg/L| <0002 = 0.007 = 0002 = <0002 = 0002 - 0002 -
me/L|_0.18 = 0.19 = 011 - 017 - 0.22 - 0.16 -
me/L]__0.08 = 0.02 = 0.01 = <001 = 0.07 = 0.04 =
mg/L|_ 0.23 = 0.23 = 0.13 - 0.18 - 0.25 - 0.16 -
me/l] - = = = = = - = = = = =
= mg/L|_0.015 = 0.008 = 0.015 - 0.018 - 0.015 - 0.003 -
& mg/L| _0.006 = 0003 = 0.013 = 0.008 = 0.013 = 0002 =
% mg/L|_0.015 = 0.010 = 0.014 - 0.016 - 0.019 - 0.010 -
it me/l] - = - = - = - = - = - =
B |["EEEX (T0C) me/L| - - - - 0.9 - - - - -
B  [@mficop me/L - - - - - - - - - - -
J0074)la wg/L| < - 1 - 1 - 7 - 3 - 7 -
SIAIAFY (FTIAER g/l 1 - 1 - 1 - 1 - [ - < -
®o/OOo 1L ug/l - - - - - - - - - - - -
SR me/L = = = = = = = = = = =
[ EEPVANS 3 WE/m | 627 = 302 = 187 - 500 - T664 - 305 -
(BT =5 r @k W/ - = = = - = 5 = - = = =
PELE 2N mg/L - - - - - - <0. 0006 - - - - -
F5 oA 1.2-U/0ATF LY me/L| - - - - - - <0.004 - - - - -
1,2->7an70/8> mg/L - - - - - - <0. 006 - - - - -
p—S/ONRUEY me/L| - - - - - - 0.02 = = = = =
1IEYTAY me/L| - - - - = = <0.0008 = - - - -
EATT/ Y me/L - - - - - - <0.0005 - - - - -
2x=+AFFY (MEP) mg/L - - - - - - <0. 0003 - - - - -
1JIRFAT > me/L| - - - - - - <0.004 - - - - -
ey NG 1 1)) me/L| - - - - - - <0.004 - - - - -
sonRs0=) (TPN) me/L - - - - - - <0. 004 - - - - -
B [JOe¥sF me/L| - - - - - - <0.0008 - - - - -
g s ErP0 we/L| - = = = = = 20,0006 = = = = =
5 Y ALKR (DDVP) mg/L - - - - - - <0. 0008 - - - - -
5 517 IANT (BPMC) me/L| - - - - - - <0003 = = = = =
47axk2 (1BP) mg/L - - - - - - <0. 0008 - - - - -
JoL=rA7zY (CNP) mg/L - - - - - - <0. 0001 - - - - -
[P me/L| - - - - = = <0.06 - - - - -
FULY me/L| - - - - - - 0.04 - - - - -
FENBSIFIAFIN mg/L - - - - - - <0. 006 - - - - -
B mg/L - - - - - - <0. 001 - - - - -
E)ITY me/L| - - - - = = <0.007 - - - - -
FoFEY me/L| - - - - - - <0002 = = = = =
SoFK meg/L - - - - - - - - - - - -
ES5R me/l] - - - - - - - - - - -
ﬁ’é BE Bl 0.2 0.6 0.3 0.6 1.0 0.2 1.0 0.9 0.4 0.4 0.2 0.2
W= ms/m - - - - - - 4.3 - - - - -
ton |REEAMEER B/100n| 2 = < = 500 = 30 - 28 - 74 -
EEE 0F me/L| 7.8 8.2 6.5 8.9 8.7 70 2 10 [ 9.6 T 10
|BRE Y B meg/L - - - - - - - - - - - -
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